_89_

3— (1) ZBRLBEDOFTHEDRELL

(ppm)
TET#1 £ BIE B R Hhis TRR26EE | FERIEE | TR28EE | TH29FEE | FHIEE
Rl FE FH LR E3 0.003 0.002 0.003 0.003 0.003
i FERETS % 0.002 0.002 0.002 0.002 0.002
HHEM FEER IR S E3 0.002 0.001 0.002 0.002 0.002
Py EEE D) % 0.003 0.003 0.002 0.002 0.002
Al x 0.003 0.003 0.003 0.003 0.003
EA#fh FEA#F iR Al 5] 0.003 0.003 0.004 0.003 0.003
FEARTERA E3 0.003 0.003 0.003 0.003 0.002
EAR™ HILINER % 0.003 0.002 0.003 0.003 0.003
BRfE /NP E3 0.005 0.003 0.004 0.003 0.003
LHRXET |[ZEARRER 1 0.003 0.002 0.003 0.003 0.002
==Riikic] B 7 (R 5D ZDth — 0.002 0.002 0.003 0.003
ES B EREEER % — 0.002 0.002 0.003 0.002
B H T A HETER E3 0.003 0.003 0.003 0.003 0.003
3—(2)—BILEROEFHBEOREL
(ppm)
BT 4 BIE B FRikthigi | FR26EE | FR2TEE | FR28FEE | FR29FEE | FRRIEE
Bl fF T F IR % 0.003 0.003 0.002 0.002 0.002
o il FERATE * 0.002 0.002 0.002 0.002 0.002
BEH FEER IR LS % 0.003 0.003 0.004 0.003 0.002
A=k Bk * 0.002 0.002 0.002 0.002 0.002
EA#fh FEA#F iR Al 5] 0.005 0.002 0.002 0.002 0.003
FEARTRA * 0.005 0.005 0.005 0.005 0.006
EAR™ HILINER % 0.006 0.005 0.006 0.007 0.005
BR BN * 0.007 0.006 0.007 0.007 0.007
LHRXET |[ZEARRER 1 0.002 0.002 0.003 0.002 0.002
==Riikic] B 7 (R 5D ZDth — 0.003 0.002 0.002 0.002
ES B EREEER % — 0.002 0.002 0.002 0.001
B H T A HETER * 0.004 0.004 0.003 0.004 0.003
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3—(B) HILERDFEHENDRFLEIL

(ppm)

HETH 4 BIE R FEthisl | FR26FEE | FR2TEE | FR28EE | FR29FEE | FRIEE
Al fF FH IR 1* 0.007 0.007 0.007 0.007 0.007
i) FERRETS 1* 0.006 0.007 0.007 0.006 0.006
AEM P ER R ELS 1* 0.006 0.006 0.006 0.006 0.006
{E{ah m B R ELE 1* 0.007 0.006 0.006 0.006 0.005
FEI#Fh B &R 5] 0.007 0.007 0.007 0.005 0.006
EARTEA 1* 0.011 0.011 0.011 0.011 0.010

EART HITINVER 1* 0.010 0.009 0.009 0.011 0.008
BR /NS 1* 0.009 0.009 0.009 0.010 0.009

LR XEFHH | ZIEARRER 1* 0.005 0.005 0.006 0.004 0.004
==Eiiliz] B R EED ZDfh — 0.005 0.005 0.005 0.004
EEX ERSEEKR 1* — 0.005 0.005 0.005 0.005
B H ET A H BT fE R 1* 0.010 0.010 0.009 0.008 0.008

3—(4) “HILEROEHO8NIENRELIL

(ppm)

HETH % BIE R FEthisl | FR26FEE | FR2TEE | FR28EE | FR29FEE | FRIOEE

Al fF FH IR 1* 0.018 0.017 0.018 0.014 0.014
i) FERRETE 1* 0.013 0.016 0.014 0.015 0.012
AEM P ER R ELS 1* 0.014 0.012 0.013 0.013 0.012
A m B R ELE 1* 0.013 0.013 0.011 0.012 0.011
FEI#Fh EI#F &R 5] 0.013 0.013 0.012 0.012 0.013
EARTEA 1* 0.020 0.023 0.022 0.023 0.022

EART HITINVER 1* 0.025 0.024 0.021 0.025 0.023
BR BN 1* 0.027 0.023 0.022 0.024 0.026

LR XEHFH | ZIEARRER 1* 0.011 0.010 0.016 0.010 0.009
==Eiilizl B R EED ZDfh — 0.013 0.011 0.011 0.010
EEX ERSEEKR 1* — 0.011 0.011 0.011 0.009
B H ET A H BT fE R 1* 0.024 0.021 0.021 0.022 0.019
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3—(B)FERFIRMEDFEFHEDRERELI

(mg/m>

B4 % BIE B FA & th i TRR26EE | FERIEE | FR28EE | TH29FEE | FHI0EE

Rl FF FH LR E3 0.023 0.019 0.017 0.016 0.015
g FERETS % 0.021 0.019 0.020 0.018 0.018
HHEH FEER RS * 0.017 0.015 0.013 0.017 0.020
Eath I ER IR LS % 0.016 0.016 0.015 0.014 0.014
E#Fh &R 5] 0.020 0.018 0.018 0.017 0.015
FEARTEA * 0.020 0.018 0.018 0.017 0.017

EART HIT/IVER * 0.022 0.019 0.017 0.017 0.017
BR /N % 0.021 0.018 0.018 0.017 0.012

e PN ] LR R * 0.018 0.017 0.016 0.016 0.015
== Riikic] E 7 (R E BT ZDith — 0.020 0.019 0.016 0.014
EEX EREREFEFR E3 — 0.021 0.021 0.017 0.014
B 5 T B BT E R % 0.024 0.020 0.019 0.020 0.019
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3—(B)RIEFZAFLIUEORE1HEEOETEDEELL

(ppm)
B4 % BIE B FA & th i TRR26EE | FERIEE | TR28EE | TH29FEE | FHI0EE
Rl FF FH LR E3 0.036 0.038 0.038 0.042 0.042
g FERETS % 0.034 0.034 0.036 0.041 0.040
HHEH FEEM IR S E3 0.029 0.030 0.031 0.033 0.031
Eath I ER IR LD % 0.030 0.032 0.034 0.032 0.032
E#Fh &R 5] 0.033 0.034 0.036 0.040 0.035
EART EARTRA % 0.031 0.027 0.028 0.033 0.035
L% K™ LR R * 0.031 0.033 0.038 0.040 0.033
== Riikic] E 7 (R E BT ZDith — 0.037 0.035 0.038 0.040
EEX] EREREFEFR E3 — 0.040 0.042 0.043 0.044
B T B BT E R % 0.031 0.035 0.037 0.037 0.036

3— (T HALFEAFIE D BRRE D 1KFEEA0.1200mZE B X - HBDREF LI

(ppm)

B4 % BIE H FA & th 15 FRR26EE | FERIEE | TR28EE | Th29FEE | FHIEE
Rl FF FH LR 1 0 0 0 0 0
g FERETS % 0 0 0 0 0
HHEH FEER RS * 0 0 0 0 0
Eath EEE D) % 0 0 0 0 0
E#Fh &R 5] 0 0 0 0 0
EART EART&A % 0 0 0 0 0
L% K™ LR R 1 0 0 0 0 0
== Riikic] E 7 (R EE BT ZDith — 0 0 0 0
EEX] EREREFEFR £ — 0 0 0 0
B T B BT E R % 0 0 0 0 0




